



Original Article

# On retracting properties and covering homotopy theorem for $S$ -maps into $S_\chi$ -cofibrations and $S_\chi$ -fibrations



Amin Saif <sup>a</sup>, Adem Kılıçman <sup>b,\*</sup>

<sup>a</sup> Department of Mathematics, Faculty of Applied Sciences, Taiz University, Taiz, Yemen

<sup>b</sup> Department of Mathematics, University Putra Malaysia, Serdang, Selangor 43400 UPM, Malaysia

Received 19 August 2015; revised 13 January 2016; accepted 2 March 2016

Available online 26 March 2016

## Keywords

Homotopy;  
Topological semigroup;  
Retraction;  
Fibration;  
Cofibration

**Abstract** In this paper we generalize the retracting property in homotopy theory for topological semigroups by introducing the notions of deformation  $S$ -retraction with its weaker forms and ES-homotopy extension property. Furthermore, the covering homotopy theorems for  $S$ -maps into  $S_\chi$ -fibrations and  $S_\chi$ -cofibrations are introduced and pullbacks for  $S_\chi$ -fibrations behave properly.

**MSC:** Primary 54B25; 54F45; 54C56

Copyright 2016, Egyptian Mathematical Society. Production and hosting by Elsevier B.V.  
This is an open access article under the CC BY-NC-ND license  
(<http://creativecommons.org/licenses/by-nc-nd/4.0/>).

## 1. Introduction

The homotopy theory is an important part of mathematics which has many applications and numerous variants, generalizations, and adaptations. It has been improved to the shape theory in order to deal better with spaces with poor local

properties. The concepts of Hurewicz fibrations [3] and retractions [1] have played very important roles for investigating the mutual relations among the topological spaces.

Under the notion of homotopy theory for topological spaces, Cerin in [2] introduced the definition of homotopy theory for topological semigroups. He extended some basic properties in homotopy theory to their analogous structures in homotopy theory for topological semigroups such as  $S$ -retraction,  $K$ -retraction,  $S$ -homotopically domination,  $S_\chi$ -fibration and  $S_\chi$ -cofibration.

This paper is organized as follows. Section 2 is devoted to some preliminaries. In Section 3 we give the concepts of deformation  $S$ -retract, deformation  $K$ -retract, strong deformation  $S$ -retraction, and ES-homotopy extension property. The  $S_\chi$ -fibrations and  $S_\chi$ -cofibrations played very important roles for investigating the mutual relations of among these concepts. In

\* Corresponding author. Tel.: +60 389466813; fax: +60 389437958.  
E-mail addresses: [akilic@upm.edu.my](mailto:akilic@upm.edu.my), [kilicman@yahoo.com](mailto:kilicman@yahoo.com) (A. Kılıçman).

Peer review under responsibility of Egyptian Mathematical Society.



Production and hosting by Elsevier

**Section 4** we introduce the covering homotopy theorems for S-maps into  $S_\chi$ -fibrations and  $S_\chi$ -cofibrations. We prove the pull-backs for  $S_\chi$ -fibrations are  $S_\chi$ -fibrations.

## 2. Preliminaries

In this section we provide some preliminary works that serve as background for the present study which were previously established by Cerin, in [2].

A *topological semigroup* or *S-space* is a pair  $(S, a)$  consisting a topological space  $S$  and a map (i.e., a continuous function)  $a: S \times S \rightarrow S$  such that  $a(x, a(y, z)) = a(a(x, y), z)$  for all  $x, y, z \in S$ . Let  $\chi$  denotes the class of all S-spaces.

For every space  $S$ , the *natural S-space* is S-space  $(S, \pi_i)$ , where  $\pi_i$  is a continuous associative multiplication on  $S$  given by  $\pi_1(x, y) = x$  and  $\pi_2(x, y) = y$  for all  $x, y \in S$ . We denote the class of all natural S-spaces  $(S, \pi)$  by  $\mathcal{N}_\pi$ , where  $\pi = \pi_1, \pi_2$ .

S-space  $(B, c)$  is called an *S-subspace* of  $(S, a)$  if  $B$  is a subspace of  $S$  and the map  $a$  takes the product  $B \times B$  into  $B$  and  $c(x, y) = a(x, y)$  for all  $x, y \in B$ . It is natural to denote the multiplication of S-subspace with the same symbol used for the multiplication on the S-space under consideration.

Let  $(S, a)$  and  $(O, e)$  be two S-spaces. The function  $f: (S, a) \rightarrow (O, e)$  is called a *homomorphism* or an *S-map* if  $f$  is a map of a space  $S$  into  $O$  and  $f(a(x, y)) = e(f(x), f(y))$  for all  $x, y \in S$ . Recall [2] that the usual composition and the usual product of two S-maps are S-maps.

For every a space  $S$ , by  $P(S)$  we mean the space of all paths from the unit closed interval  $I = [0, 1]$  into  $S$  with the compact-open topology. Recall [2] that for every S-space  $(S, a)$ ,  $(P(S), \underline{a})$  is S-space where  $\underline{a}: P(S) \times P(S) \rightarrow P(S)$  is a map defined by  $\underline{a}(\alpha, \beta)(t) = a(\alpha(t), \beta(t))$  for all  $\alpha, \beta \in P(S)$ ,  $t \in I$ . The shorter notion for this S-space will be  $P(S, a)$ .

**Definition 2.1.** The S-maps  $f, g: (S, a) \rightarrow (O, e)$  are called S-homotopic and write  $f \simeq_s g$  provided there is S-map  $H: (S, a) \rightarrow P(O, e)$  called S-homotopy such that  $H(s)(0) = f(s)$  and  $H(s)(1) = g(s)$  for all  $s \in S$ .

**Theorem 2.2.** *The relation of S-homotopy  $\simeq_s$  is an equivalence relation on the set of all S-maps of  $(S, a)$  into  $(O, e)$ .*

**Theorem 2.3.** *If the S-maps  $f, g: (S, a) \rightarrow (O, e)$  are S-homotopic then the relations  $f \circ h \simeq_s g \circ h$  and  $k \circ f \simeq_s k \circ g$  hold for all S-maps  $h$  into  $(S, a)$  and  $k$  from  $(O, e)$ .*

Recall [2] that if the S-maps  $f, g: (S, a) \rightarrow (O, e)$  are S-homotopic then the maps  $f, g: S \rightarrow O$  are homotopic and the S-maps  $f, g: (S, \pi) \rightarrow (O, \pi)$  are S-homotopic if and only if the maps  $f, g: S \rightarrow O$  are homotopic.

Throughout this paper, for every S-homotopy  $H: (S, a) \rightarrow P(O, e)$  and for every  $t \in I$ , by  $H_t$  (or  $[H]_t$ ) we mean the S-map, [2],  $H_t: (S, a) \rightarrow (O, e)$  which given by  $H_t(s) = H(s)(t)$  for all  $s \in S$ . Also for every S-homotopy  $H: (S, a) \rightarrow P[P(O, e)]$  and for every  $r, t \in I$ , by  $H_{rt}$  (or  $[H]_{rt}$ ) we mean the S-map  $H_{rt}: (S, a) \rightarrow (O, e)$  which given by  $H_{rt}(s) = [H(s)(r)](t)$  for all  $s \in S$ .

**Definition 2.4.** S-map  $f: (S, a) \rightarrow (O, e)$  is called  $S_\chi$ -fibration if for every space  $(X, c) \in \chi$ , S-map  $g: (X, c) \rightarrow (S, a)$ , and S-homotopy  $G: (X, c) \rightarrow P(O, e)$  with  $G_0 = f \circ g$ , there is S-homotopy  $H: (X, c) \rightarrow P(S, a)$  such that  $H_0 = g$  and  $f \circ H_t = G_t$  for all  $t \in I$ .

Recall [2] that the map  $f: S \rightarrow O$  is a Hurewicz fibration if and only if the S-map  $f: (S, \pi) \rightarrow (O, \pi)$  is  $S_{\mathcal{N}_\pi}$ -fibration.

**Definition 2.5.** *S-map  $f: (S, a) \rightarrow (O, e)$  is called  $S_\chi$ -cofibration if for every space  $(X, c) \in \chi$ , S-map  $g: (O, e) \rightarrow (X, c)$ , and S-homotopy  $G: (S, a) \rightarrow P(X, c)$  with  $G_0 = g \circ f$ , there is S-homotopy  $H: (O, e) \rightarrow P(X, c)$  such that  $H_0 = g$  and  $H_t \circ f = G_t$  for all  $t \in I$ .*

Recall [2] that the map  $f: S \rightarrow O$  is a cofibration if and only if the S-map  $f: (S, \pi) \rightarrow (O, \pi)$  is  $S_{\mathcal{N}_\pi}$ -cofibration.

**Definition 2.6.** *An S-subspace  $(B, a)$  of S-space  $(S, a)$  is called S-retract of  $(S, a)$  if there exists S-map  $R: (S, a) \rightarrow (B, a)$  such that  $R(s) = s$  for all  $s \in B$ . The S-map  $R$  is called S-retraction of  $(S, a)$  onto  $(B, a)$ .*

Throughout this paper,  $j: (B, a) \rightarrow (S, a)$  will denote to the inclusion S-map for every S-subspace  $(B, a)$  of S-space  $(S, a)$  and  $id$  the identity S-map.

**Definition 2.7.** An S-subspace  $(B, a)$  of S-space  $(S, a)$  is called **K-retract** of  $(S, a)$  if there exists S-map  $r: (S, a) \rightarrow (B, a)$  such that  $r \circ j \simeq_s id_B$ . The S-map  $r$  is called **K-retraction** of  $(S, a)$  onto  $(B, a)$ .

Notice that S-retract is an K-retract. The converse of the first claim is not true in general. In the following theorem, [2] proved a sufficient condition.

**Theorem 2.8.** *Let  $(B, a)$  be S-subspace of S-space  $(S, a)$  such that the inclusion S-map  $j: (B, a) \rightarrow (S, a)$  is  $S_{\{(B, a)\}}$ -cofibration. Then  $(B, a)$  is S-retract of  $(S, a)$  if and only if  $(B, a)$  is K-retract of  $(S, a)$ .*

## 3. Deformation S-retractions

**Definition 3.1.** An S-subspace  $(B, a)$  of S-space  $(S, a)$  is called a *deformation S-retract* of  $(S, a)$  if there exists S-retraction map  $R: (S, a) \rightarrow (B, a)$  of  $(S, a)$  onto  $(B, a)$  such that  $j \circ R \simeq_s id_S$ . The S-homotopy between  $j \circ R$  and  $id_S$  is called a deformation S-retraction.

**Example 3.2.** Let  $(S, a)$  be S-space and  $s_o \in S$  be an idempotent element of  $(S, a)$  (i.e.,  $s_o a s_o = s_o$ ). Let

$$L(S, s_o) = \{\alpha \in P(S) : \alpha(0) = s_o\} \subset P(S)$$

and  $\tilde{s}_o$  be the constant path at  $s_o$  in  $L(S, s_o)$ . For every  $\alpha, \beta \in L(S, s_o)$ ,

$$(\alpha \underline{a} \beta)(0) = \alpha(0) \underline{a} \beta(0) = s_o a s_o = s_o.$$

That is, a pair  $(L(S, s_o), \underline{a})$  is S-subspace of  $P(S, a)$ . Similarly,  $(\{\tilde{s}_o\}, \underline{a})$  is S-subspace of  $(L(S, s_o), \underline{a})$ . Define the S-retraction  $R: (L(S, s_o), \underline{a}) \rightarrow (\{\tilde{s}_o\}, \underline{a})$  by  $F(\alpha) = \tilde{s}_o$  for all  $\alpha \in L(S, s_o)$ .  $(\{\tilde{s}_o\}, \underline{a})$  is a deformation S-retract of  $(L(S, s_o), \underline{a})$  such that  $id_{L(S, s_o)} \simeq_s j \circ R$  by a deformation S-retraction  $F: (L(S, s_o), \underline{a}) \rightarrow P(L(S, s_o), \underline{a})$  given by  $F_{rt}(\alpha) = \alpha(r(1-t))$  for all  $r, t \in I$ ,  $\alpha \in L(S, s_o)$ , where  $j: (\{\tilde{s}_o\}, \underline{a}) \rightarrow (L(S, s_o), \underline{a})$  is the inclusion S-map.

The S-map  $f: (S, a) \rightarrow (O, e)$  is called *S-homotopy equivalence* if there exists S-map  $g: (O, e) \rightarrow (S, a)$  such that  $f \circ g \simeq_s id_O$  and

$g \circ f \simeq {}_s id_S$ . An S-subspace  $(B, a)$  of S-space  $(S, a)$  is called a deformation K-retract of  $(S, a)$  if the inclusion S-map  $j: (B, a) \rightarrow (S, a)$  is S-homotopy equivalence.

Notice that a deformation S-retract is a deformation K-retract. Moreover, a deformation K-retract is a deformation H-retract (called a weak deformation retract in [[4], p. 30]). The converse of the last claim holds for multiplications  $\pi$  but fail in general, see Example (7) in ([4], P. 30), for the natural S-spaces  $(X, \pi)$  and  $(A, \pi)$ . In the following theorem, we shall identify a sufficient condition when the converse of the first claim is true.

**Theorem 3.3.** *Let  $(B, a)$  be S-subspace of S-space  $(S, a)$  such that the inclusion S-map  $j: (B, a) \rightarrow (S, a)$  is  $S_{\{(B, a)\}}$ -cofibration. Then  $(B, a)$  is a deformation S-retract of  $(S, a)$  if and only if  $(B, a)$  is a deformation K-retract of  $(S, a)$ .*

**Proof.** We already noticed that the (only if) part is always true, it remains to show the (if) part. Since  $(B, a)$  is a deformation K-retract of  $(S, a)$ , then there exists S-map  $r: (S, a) \rightarrow (B, a)$  such that  $r \circ j \simeq {}_s id_B$  and  $j \circ r \simeq {}_s id_S$ . For the first part, there exists S-homotopy  $F: (B, a) \rightarrow P(B, a)$  such that  $F_0 = r \circ j$  and  $F_1 = id_B$ . By hypothesis, there exists S-homotopy  $H: (S, a) \rightarrow P(B, a)$  such that  $H_0 = r$  and  $H_t \circ j = F_t$  for all  $t \in I$ . Define the S-retraction  $R: (S, a) \rightarrow (B, a)$  of  $(S, a)$  onto  $(B, a)$  by  $R(s) = H(s)(1)$  for all  $s \in S$ . Note that for all  $s \in B$ ,  $R(s) = H(s)(1) = F(s)(1) = s$ .

For the second part  $j \circ r \simeq {}_s id_S$ , there exists S-homotopy  $G: (S, a) \rightarrow P(S, a)$  such that  $G_1 = j \circ r$  and  $G_0 = id_S$ . Since  $G_1 = j \circ r = j \circ H_0$ , then we can define S-homotopy  $H': (S, a) \rightarrow P(S, a)$  by

$$H'(s)(t) = \begin{cases} G(s)(2t) & \text{for all } t \in [0, 1/2], s \in S; \\ j[H(s)(2t - 1)] & \text{for all } t \in [1/2, 1], s \in S. \end{cases}$$

Note that  $H'_0 = G_0 = id_S$  and  $H'_1 = j \circ H_1 = j \circ R$ . That is,  $j \circ R \simeq {}_s id_S$ . Hence  $(B, a)$  is a deformation S-retract of  $(S, a)$ .  $\square$

In Definition (3.1), the S-homotopy between  $j \circ r$  and  $id_S$ , say  $F: (S, a) \rightarrow P(S, a)$ , is called a strong deformation S-retraction if  $F(s)(t) = s$  for all  $s \in B$ ,  $t \in I$  and we say  $(B, a)$  is a strong deformation S-retract of  $(S, a)$ .

In Example (3.2),  $F$  is a strong deformation S-retraction such that

$$F_t(\tilde{s}_o) = \tilde{s}_o(r(1 - t)) = s_o = \tilde{s}_o(r)$$

for all  $r, t \in I$ .

One can easily check that a strong deformation S-retract is a deformation S-retract. The converse of this claim fail in general, see Example (8) in ([4], P. 30), for the natural S-spaces  $(X, \pi)$  and  $(A, \pi)$ . In Theorem (3.7), we shall identify a sufficient condition when the converse of the first claim is true.

**Definition 3.4.** Let  $(B, a)$  be an S-subspace of S-space  $(S, a)$  and  $(O, e)$  be any S-space. An S-homotopy  $G: (B, a) \rightarrow P[P(O), \underline{e}]$  is called a  $S_{01}$ -extended map to  $(S, a)$  provided for every  $t \in I$ , the two S-maps  $G_{0t}, G_{1t}: (B, a) \rightarrow (O, e)$  have extension S-maps to  $S$ , denoted by  $EG_{0t}, EG_{1t}: (S, a) \rightarrow (O, e)$ , respectively.

For every a closed subspace  $B$  of a space  $S$ ,  $S_B^{01}$  will be denote to the closed subspace  $(S \times \{0\}) \cup (B \times I) \cup (S \times \{1\})$  of  $S \times I$ . In the above definition, for every  $(s, r) \in S_B^{01}$ ,  $E_{sr}$ -path in  $O$

induced by  $G$  (denoted  $E_{sr}^G$ ) is a path in  $O$  given by

$$E_{sr}^G(t) = \begin{cases} EG_{0t}(s) & s \in S, r = 0; \\ G_{rt}(s) & s \in B, r \in I; \\ EG_{1t}(s) & s \in S, r = 1 \end{cases}$$

for all  $t \in I$ . Note that  $E_{sr}^G$  is a continuous, since  $B$  is a closed subspace of  $S$ .

**Definition 3.5.** A closed S-subspace  $(B, a)$  of S-space  $(S, a)$  is said to have ES-homotopy extension property in  $(S, a)$  with respect to  $(O, e)$  if, given S-homotopy  $g: (S, a) \rightarrow P(O, e)$  and  $S_{01}$ -extended map  $G: (B, a) \rightarrow P[P(O), \underline{e}]$  to  $S$  with  $E_{sr}^G(0) = g(s)(r)$  for all  $(s, r) \in S_B^{01}$ , there exists S-homotopy  $H: (S, a) \rightarrow P[P(O), \underline{e}]$  such that  $H_{r0} = g_r$  for all  $r \in I$  and  $H_{rt}(s) = E_{sr}^G(t)$  for all  $(s, r) \in S_B^{01}, t \in I$ .

**Example 3.6.** Let  $(S, a)$  be any S-space and  $(B, a)$  be any closed S-subspace of  $(S, a)$ . Let  $s_o \in S$  be an idempotent element of  $(S, a)$ . Then  $(B, a)$  has ES-homotopy extension property in  $(S, a)$  with respect to  $(\{s_o\}, a)$ . Note that we have only one S-homotopy  $g: (S, a) \rightarrow P(\{s_o\}, a)$  given by  $g(s) = \tilde{s}_o$  for all  $s \in S$  and one  $S_{01}$ -extended map  $G: (B, a) \rightarrow P[P(\{s_o\}), \underline{a}]$  to  $S$  given by  $G(s)(r) = \tilde{s}_o$  for all  $s \in B$  with extensions  $EG_{0t}(s) = s_o$  and  $EG_{1t}(s) = s_o$  for all  $s \in S, t \in I$ . For every  $(s, r) \in S_B^{01}$ ,  $E_{sr}^G = \tilde{s}_o$  and we observe that

$$E_{sr}^G(0) = \tilde{s}_o(0) = s_o = \tilde{s}_o(r) = g(s)(r).$$

Define S-homotopy  $H: (S, a) \rightarrow P[P(\{s_o\}), \underline{a}]$  by  $H_{rt}(s) = s_o$  for all  $s \in S$  and  $r, t \in I$ . Note that  $H_{r0} = g_r$  for all  $r \in I$  and  $H_{rt}(s) = E_{sr}^G(t)$  for all  $(s, r) \in S_B^{01}, t \in I$ .

**Theorem 3.7.** *Let  $(B, a)$  be a closed S-subspace of S-space  $(S, a)$  such that  $(B, a)$  has ES-homotopy extension property in  $(S, a)$  with respect to  $(S, a)$ . Then  $(B, a)$  is a strong deformation S-retract of  $(S, a)$  if and only if  $(B, a)$  is a deformation S-retract of  $(S, a)$ .*

**Proof.** We already noticed above that the (only if) part is always true, it remains to show the (if) part. Since  $(B, a)$  is a deformation S-retract of  $(S, a)$ , there exist S-retraction map  $R: (S, a) \rightarrow (B, a)$  and S-homotopy  $F: (S, a) \rightarrow P(S, a)$  such that  $F_0 = id_S$  and  $F_1 = j \circ R$ . Define S-homotopy  $G: (B, a) \rightarrow P[P(S), \underline{a}]$  by

$$G_{rt}(s) = F(s)(r(1 - t))$$

for all  $r, t \in I, s \in B$ . For every  $t \in I$ , define S-maps  $EG_{0t}, EG_{1t}: (S, a) \rightarrow (S, a)$  by

$$EG_{0t}(s) = s, EG_{1t}(s) = F(R(s))(1 - t)$$

for all  $s \in S$ , respectively. Note that for every  $t \in I$ ,

$$G_{0t}(s) = F(s)(0) = s = EG_{0t}(s)$$

and since  $R$  is S-retraction of  $(S, a)$  onto  $(B, a)$ , then

$$G_{1t}(s) = F(s)(1 - t) = F(R(s))(1 - t) = EG_{1t}(s)$$

for all  $s \in B$ . Then  $EG_{0t}$  and  $EG_{1t}$  are extension S-maps of  $G_{0t}$  and  $G_{1t}$  to  $S$ , respectively. That is, S-homotopy  $G$  is  $S_{01}$ -extended

map to  $S$ . For every  $(s, r) \in S_B^{01}$ , the  $E_{sr}$ -path in  $O$  induced by  $G$  is given by

$$E_{sr}^G(t) = \begin{cases} s & s \in S, r = 0; \\ F(s)(r(1-t)) & s \in B, r \in I; \\ F(R(s))(1-t) & s \in S, r = 1 \end{cases}$$

for all  $t \in I$ .

Note that  $E_{sr}^G(0) = F(s)(r)$  for all  $s \in B, r \in I, E_{s0}^G(0) = s = F(s)(0)$ , and

$$\begin{aligned} E_{s1}^G(0) &= F(R(s))(1) = (j \circ R)(R(s)) = j[R(R(s))] \\ &= j[R(s)] = F(s)(1) \end{aligned}$$

for all  $s \in S$ . That is,  $E_{sr}^G(0) = F(s)(r)$  for all  $(s, r) \in S_B^{01}$ . Since  $(B, a)$  has ES-homotopy extension property in  $(S, a)$  w.r.t  $(S, a)$ , then there exists S-homotopy  $H: (S, a) \rightarrow P[P(S), \underline{a}]$  such that  $H_{r0} = F_r$  for all  $r \in I$  and  $H_{rt}(s) = E_{sr}^G(t)$  for all  $(s, r) \in S_B^{01}, t \in I$ .

Define S-homotopy  $F': (S, a) \rightarrow P(S, a)$  by  $F'(s)(r) = H_{r1}(s)$  for all  $r \in I, s \in S$ . Note that

$$F'(s)(0) = H_{01}(s) = E_{s0}^G(1) = s$$

and

$$F'(s)(1) = H_{11}(s) = E_{s1}^G(1) = F(R(s))(0) = R(s) = (j \circ R)(s)$$

for all  $s \in S$ . That is,  $F'$  is S-homotopy between  $id_S$  and  $j \circ R$ . Since  $R$  is S-retraction, then  $F'$  is a deformation S-retraction. For a strong property, we note that for every  $s \in B, r \in I$ ,

$$F'(s)(r) = H_{r1}(s) = E_{sr}^G(1) = F(s)(0) = s.$$

Hence  $(B, a)$  is a strong deformation S-retract of  $(S, a)$ .  $\square$

In the following theorem, recall [2] that the function  $f: S \rightarrow O$  of a natural S-space  $(S, \pi)$  into  $(O, \pi)$  is S-map if and only if it is continuous.

**Theorem 3.8.** *Let  $(B, \pi)$  be a closed S-subspace of S-space  $(S, \pi)$ . Then  $(B, \pi)$  has ES-homotopy extension property in  $(S, \pi)$  w.r.t any S-space  $(O, \pi) \in \mathcal{N}_\pi$  if and only if the inclusion S-map  $j: (S_B^{01}, \pi) \rightarrow (S \times I, \pi)$  is  $S_{\mathcal{N}_\pi}$ -cofibration.*

**Proof.** Suppose  $(B, \pi)$  has ES-homotopy extension property in  $(S, \pi)$  with respect to S-space  $(O, \pi)$ . Let  $g': (S \times I, \pi) \rightarrow (O, \pi)$  be S-map and  $G': (S_B^{01}, \pi) \rightarrow P(O, \pi)$  be S-homotopy with  $G'_0 = g' \circ j$ . Define S-homotopy  $G: (B, \pi) \rightarrow P[P(O), \underline{\pi}]$  by  $G_{rt}(s) = G'(s, r)(t)$  for all  $r, t \in I, s \in B$ . For every  $t \in I$ , define S-maps  $EG_{0t}, EG_{1t}: (S, \pi) \rightarrow (O, \pi)$  by

$$EG_{0t}(s) = G'((s, 0), t), \quad EG_{1t}(s) = G'((s, 1), t)$$

for all  $s \in S$ , respectively. Note that for every  $t \in I, EG_{0t}$  and  $EG_{1t}$  are extension S-maps of  $G_{0t}$  and  $G_{1t}$  to  $S$ , respectively. That is, S-homotopy  $G$  is  $S_{01}$ -extended map to  $S$ . For every  $(s, r) \in S_B^{01}$ , the  $E_{sr}$ -path in  $O$  induced by  $G$  is given by  $E_{sr}^G(t) = G'(s, r)(t)$  for all  $t \in I$ .

Define S-map  $g: (S, \pi) \rightarrow P(O, \pi)$  by  $g(s)(r) = g'(s, r)$  for all  $s \in S, r \in I$ . Note that

$$E_{sr}^G(0) = G'((s, r), 0) = g'(s, r) = g(s)(r)$$

for all  $(s, r) \in S_B^{01}$ . Then there exists S-homotopy  $H: (S, \pi) \rightarrow P[P(O), \underline{\pi}]$  such that  $H_{r0}(s) = g_r(s) = g'(s, r)$  for all  $r \in I, s \in S$  and  $H_{rt}(s) = E_{sr}^G(t) = G'(s, r)(t)$  for all  $(s, r) \in S_B^{01}, t \in I$ . Hence  $j$  is  $S_{\mathcal{N}_\pi}$ -cofibration.

Conversely, suppose  $j: (S_B^{01}, \pi) \rightarrow (S \times I, \pi)$  is an  $S_{\mathcal{N}_\pi}$ -cofibration. Let  $g: (S, \pi) \rightarrow P(O, \pi)$  be S-homotopy and  $G: (B, \pi) \rightarrow P[P(O), \underline{\pi}]$  be  $S_{01}$ -extended map to  $(S, \pi)$  with  $E_{sr}^G(0) = g(s)(r)$  for all  $(s, r) \in S_B^{01}$ . Define S-map  $g': (S \times I, \pi) \rightarrow (O, \pi)$  by  $g'(s, r) = g(s)(r)$  for all  $r \in I, s \in S$  and define S-homotopy  $G': (S_B^{01}, \pi) \rightarrow P(O, \pi)$  by  $G'(s, r)(t) = E_{sr}^G(t)$  for all  $(s, r) \in S_B^{01}, t \in I$ . Note that

$$G'(s, r)(0) = E_{sr}^G(0) = g(s)(r) = g'(s, r)$$

for all  $(s, r) \in S_B^{01}$ . That is,  $G'_0 = g' \circ j$ . Since  $j$  is  $S_{\mathcal{N}_\pi}$ -cofibration, then there exists S-homotopy  $H': (S \times I, \pi) \rightarrow P(O, \pi)$  such that  $H'_0 = g'$  and  $H' \circ j = G'$ . Then the desired S-homotopy  $H: (S, \pi) \rightarrow P[P(O), \underline{\pi}]$  is defined by  $H_{rt}(s) = H'(s, r)(t)$  for all  $r, t \in I, s \in S$ .  $\square$

In the following theorem, we show the role of  $S_X$ -fibrations in finding the extensions S-maps with a deformation S-retract property.

**Theorem 3.9.** *Let  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -fibration. Let  $(B, c)$  be S-subspace of S-space  $(X, c)$  such that  $(B, c)$  is a deformation S-retract of  $(X, c)$ . If  $h: (B, c) \rightarrow (S, a)$  and  $k: (X, c) \rightarrow (O, e)$  are S-maps such that  $f \circ h = k|_B$ , then there exists S-map  $h': (X, c) \rightarrow (S, a)$  such that  $f \circ h' = k$  and  $h'|_B \simeq_s h$ .*

**Proof.** Since  $(B, c)$  is a deformation S-retract of  $(X, c)$ , then there exist S-retraction map  $R: (X, c) \rightarrow (B, c)$  and S-homotopy  $F: (X, c) \rightarrow P(X, c)$  such that  $F_0 = j \circ R$  and  $F_1 = id_X$ . Define S-map  $g: (X, c) \rightarrow (S, a)$  and S-homotopy  $G: (X, c) \rightarrow P(O, e)$  by  $g = h \circ R$  and  $G_t = k \circ F_t$  for all  $t \in I$ , respectively. Note that

$$\begin{aligned} G_0 &= k \circ F_0 = k \circ (j \circ R) = (k \circ j) \circ R = k|_B \circ R \\ &= (f \circ h) \circ R = f \circ g. \end{aligned}$$

Since  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -fibration, then there exists S-homotopy  $H: (X, c) \rightarrow P(S, a)$  such that  $H_0 = g$  and  $f \circ H_t = G_t$  for all  $t \in I$ . Define  $h': (X, c) \rightarrow (S, a)$  by  $h' = H_1$ . Note that

$$f \circ h' = f \circ H_1 = G_1 = k \circ F_1 = k$$

and for all  $x \in B$ ,

$$H_0(x) = g(x) = (h \circ R)(x) = h(R(x)) = h(x).$$

Since  $h' = H_1$ , then  $h \simeq_s h'|_B$  by S-homotopy  $H|_B: (B, c) \rightarrow P(S, a)$ .  $\square$

#### 4. Covering homotopy theorem

The main results of this section are covering homotopy theorems for S-maps into  $S_X$ -fibrations and into  $S_X$ -cofibrations.

Recall [2] that for every S-map  $f: (S, a) \rightarrow (O, e)$ ,  $\widehat{f}: P(S, a) \rightarrow P(O, e)$  is S-map given by  $\widehat{f}(\alpha) = f \circ \alpha$  for all  $\alpha \in P(S, a)$ . By  $\mathcal{P}_1$  and  $\mathcal{P}_2$  we mean the usual first and the second projection maps (or S-maps), respectively.

**Theorem 4.1.** *Let  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -fibration and let  $h, h': (X, c) \rightarrow P(S, a)$  be two S-maps. Let  $h_0 \simeq_s h'_0$  and  $\widehat{f} \circ h \simeq_s \widehat{f} \circ h'$*



by  $S$ -homotopies  $K: (X, c) \rightarrow P(S, a)$  and  $G: (X, c) \rightarrow P[P(O), \underline{e}]$ , respectively. If  $G_{0t} = f \circ K_t$  for all  $t \in I$ , then there exists  $S$ -homotopy  $H: (X, c) \rightarrow P[P(S), \underline{a}]$  between  $h$  and  $h'$  such that  $H_{0t} = K_t$  and  $f \circ H_t = G_t$  for all  $t, t \in I$ .

**Proof.** Let  $M = (I \times \{0\}) \cup (\{0\} \times I) \cup (I \times \{1\}) \subset I \times I$ . For every  $(r, t) \in M$ , define  $S$ -map  $\Gamma^{(r,t)}: (X, c) \rightarrow (S, a)$  by

$$\Gamma^{(r,t)}(x) = \begin{cases} h(x)(r) & t = 0; \\ K(x)(t) & r = 0; \\ h'(x)(r) & t = 1 \end{cases}$$

for all  $x \in X$ . Recall ([4], P. 100) that there is a homeomorphism  $\lambda: I \times I \rightarrow I \times I$  taking  $M$  onto  $I \times \{0\}$ . By hypothesis, note that for every  $(r, t) \in M$ ,

$$(f \circ \Gamma^{(r,t)})(x) = G_{rt}(x) = (G(x)(r))(t)$$

for all  $x \in X$ . For every  $r \in I$ , define an  $S$ -map  $g^r: (X, c) \rightarrow (S, a)$  and  $S$ -homotopy  $G^r: (X, c) \rightarrow P(O, e)$  by  $g^r(x) = \Gamma^{\lambda^{-1}(r,0)}(x)$  and

$$G^r(x)(t) = [G(x)(\mathcal{P}_1[\lambda^{-1}(r, t)])](\mathcal{P}_2[\lambda^{-1}(r, t)])$$

for all  $x \in X, t \in I$ , respectively. Note that for every  $r \in I$ ,

$$\begin{aligned} G^r(x)(0) &= (G(x)(\mathcal{P}_1[\lambda^{-1}(r, 0)]))(\mathcal{P}_2[\lambda^{-1}(r, 0)]) \\ &= (f \circ \Gamma^{(\mathcal{P}_1[\lambda^{-1}(r,0)], \mathcal{P}_2[\lambda^{-1}(r,0)])})(x) \\ &= (f \circ \Gamma^{\lambda^{-1}(r,0)})(x) = (f \circ g^r)(x) \end{aligned}$$

for all  $x \in X$ . That is,  $G^r_0 = f \circ g^r$ . Then for every  $r \in I$ , since  $f$  is  $S_X$ -fibration, there exists  $S$ -homotopy  $H^r: (X, c) \rightarrow P(S, a)$  such that  $H^r_0 = g^r$  and  $f \circ H^r_t = G^r_t$  for all  $t \in I$ . Define  $S$ -homotopy  $H: (X, c) \rightarrow P[P(S), \underline{a}]$  by

$$(H(x)(r))(t) = H^{\mathcal{P}_1[\lambda(r,t)]}(x)(\mathcal{P}_2[\lambda(r, t)])$$

for all  $x \in X, r, t \in I$ . Note that

$$\begin{aligned} (H(x)(r))(0) &= H^{\mathcal{P}_1[\lambda(r,0)]}(x)(\mathcal{P}_2[\lambda(r, 0)]) = H^{\mathcal{P}_1[\lambda(r,0)]}(x)(0) \\ &= g^{\mathcal{P}_1[\lambda(r,0)]}(x) \\ &= \Gamma^{\lambda^{-1}(\mathcal{P}_1[\lambda(r,0)], 0)}(x) = \Gamma^{\lambda^{-1}(\mathcal{P}_1[\lambda(r,0)], \mathcal{P}_2[\lambda(r,0)])}(x) \\ &= \Gamma^{\lambda^{-1}(\lambda(r,0))}(x) = \Gamma^{(r,0)}(x) = h(x)(r) \end{aligned}$$

and

$$\begin{aligned} (H(x)(r))(1) &= H^{\mathcal{P}_1[\lambda(r,1)]}(x)(\mathcal{P}_2[\lambda(r, 1)]) = H^{\mathcal{P}_1[\lambda(r,1)]}(x)(0) \\ &= g^{\mathcal{P}_1[\lambda(r,1)]}(x) \\ &= \Gamma^{\lambda^{-1}(\mathcal{P}_1[\lambda(r,1)], 0)}(x) = \Gamma^{\lambda^{-1}(\mathcal{P}_1[\lambda(r,1)], \mathcal{P}_2[\lambda(r,1)])}(x) \\ &= \Gamma^{\lambda^{-1}(\lambda(r,1))}(x) = \Gamma^{(r,1)}(x) = h'(x)(r) \end{aligned}$$

for all  $x \in X, r \in I$ . Then  $H$  is  $S$ -homotopy between  $h$  and  $h'$ . Also note that

$$\begin{aligned} H_{0t}(x) &= (H(x)(0))(t) = H^{\mathcal{P}_1[\lambda(0,t)]}(x)(\mathcal{P}_2[\lambda(0, t)]) \\ &= H^{\mathcal{P}_1[\lambda(0,t)]}(x)(0) \\ &= g^{\mathcal{P}_1[\lambda(0,t)]}(x) = \Gamma^{\lambda^{-1}(\mathcal{P}_1[\lambda(0,t)], 0)}(x) \\ &= \Gamma^{\lambda^{-1}(\mathcal{P}_1[\lambda(0,t)], \mathcal{P}_2[\lambda(0,t)])}(x) \\ &= \Gamma^{\lambda^{-1}(\lambda(0,t))}(x) = \Gamma^{(0,t)}(x) = K_t(x) \end{aligned}$$

and

$$\begin{aligned} (f \circ H_t)(x) &= (f \circ H_r(x))(t) = (f \circ H^{\mathcal{P}_1[\lambda(r,t)]}(x))(\mathcal{P}_2[\lambda(r, t)]) \\ &= G^{\mathcal{P}_1[\lambda(r,t)]}(x)(\mathcal{P}_2[\lambda(r, t)]) \\ &= \{G(x)(\mathcal{P}_1[\lambda^{-1}\{\mathcal{P}_1[\lambda(r, t)], \mathcal{P}_2[\lambda(r, t)]\}])\} \\ &\quad (\mathcal{P}_2[\lambda^{-1}\{\mathcal{P}_1[\lambda(r, t)], \mathcal{P}_2[\lambda(r, t)]\}]) \\ &= \{G(x)(\mathcal{P}_1[\lambda^{-1}\{\lambda(r, t)\}])\}(\mathcal{P}_2[\lambda^{-1}\{\lambda(r, t)\}]) \\ &= \{G(x)(\mathcal{P}_1[r, t])\}(\mathcal{P}_2[r, t]) \\ &= (G(x)(r))(t) = G_{rt}(x) \end{aligned}$$

for all  $r, t \in I, x \in X$ . That is,  $H_{0t} = K_t$  and  $f \circ H_t = G_t$  for all  $r, t \in I$ .  $\square$

**Corollary 4.2.** Let  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -fibration. Let  $h, h': (X, c) \rightarrow P(S, a)$  be  $S$ -maps such that  $h_0 = h'_0$  and  $\widehat{f} \circ h = \widehat{f} \circ h'$ . Then there exists  $S$ -homotopy  $H: (X, c) \rightarrow P[P(S), \underline{a}]$  between  $h$  and  $h'$  such that  $H_{0t} = h_0 = h'_0$  and  $f \circ H_t = f \circ h_t$  for all  $r, t \in I$ .

**Proof.** Define  $S$ -homotopy  $K: (X, c) \rightarrow P(S, a)$  by  $K(x)(t) = h_0(x)$  and  $S$ -homotopy  $G: (X, c) \rightarrow P[P(O), \underline{e}]$  by  $(G(x)(r))(t) = (f \circ h_r)(x)$  for all  $r, t \in I, x \in X$ . Then by using the above theorem, one can get the desired  $S$ -homotopy.  $\square$

In the following example, we give some applications for Theorem (4.1).

**Example 4.3.** The two pairs  $(\mathbb{R}, \pi)$  and  $(\mathbb{R}^2, \pi)$  are  $S$ -spaces with the usual real space  $\mathbb{R}$  and the usual product space  $\mathbb{R}^2$ , respectively. Let  $b, b': (X, \pi) \rightarrow (\mathbb{R}, \pi)$  be any two  $S$ -maps from any  $S$ -space  $(X, \pi)$  into  $(\mathbb{R}, \pi)$ . Define  $S_{\mathcal{N}_\pi}$ -fibration  $f: (\mathbb{R}^2, \pi) \rightarrow (\mathbb{R}, \pi)$  by  $f(x, y) = x$  for all  $(x, y) \in \mathbb{R}^2$ . Define two  $S$ -maps  $h, h': (X, \pi) \rightarrow P(\mathbb{R}^2, \pi)$  by

$$h(x)(r) = (b(x), r) \text{ and } h'(x)(r) = (b'(x), 1 - r)$$

for all  $x \in X, r \in I$ . Define  $S$ -homotopies  $K: (X, \pi) \rightarrow P(\mathbb{R}^2, \pi)$  and  $G: (X, \pi) \rightarrow P[P(\mathbb{R}), \underline{\pi}]$  by

$$\begin{aligned} K(x)(t) &= (tb'(x) + (1 - t)b(x), t) \text{ and} \\ G_{rt}(x) &= tb'(x) + (1 - t)b(x) \end{aligned}$$

for all  $x \in X, r, t \in I$ . Note that  $K(x)(0) = (b(x), 0) = h(x)(0)$ ,

$$\begin{aligned} K(x)(1) &= (b'(x), 1) = h'(x)(0), \\ G_{r0}(x) &= b(x) = [(\widehat{f} \circ h)(x)](r) \end{aligned}$$

and  $G_{rt}(x) = b'(x) = [(\widehat{f} \circ h')(x)](r)$  for all  $x \in X, r, t \in I$ . That is,  $h_0 \simeq h'_0$  and  $\widehat{f} \circ h \simeq \widehat{f} \circ h'$  by  $S$ -homotopies  $K$  and  $G$ , respectively. Since  $G_{0t} = f \circ K_t$  for all  $t \in I$ , then the desired  $S$ -homotopy  $H: (X, \pi) \rightarrow P[P(\mathbb{R}^2), \underline{\pi}]$  is given by

$$H_{rt}(x) = [tb'(x) + (1 - t)b(x), r + t - 2rt]$$

for all  $x \in X, r, t \in I$ .

Let  $f: (S, a) \rightarrow (O, e)$  and  $k: (O', e') \rightarrow (O, e)$  be  $S$ -maps. The  $S$ -space  $(S_k, e' \times a)$  is called a *pullback  $S$ -space* of  $(S, a)$  induced from  $f$  by  $k$  where  $S_k = \{(x, s) \in O' \times S | k(x) = f(s)\}$ . The  $S$ -map  $f^k: (S_k, e' \times a) \rightarrow (O', e')$  which is given by  $f^k(x, s) = x$  for all  $(x, s) \in S_k$  is called a *pullback  $S$ -map* of  $f$  induced by  $k$ .

One notable exception is that the pullbacks of some fibration types need not be an fibrations such as approximate fibrations.

In the following theorem, we show that the pullbacks of  $S_X$ -fibration maps are  $S_X$ -fibrations.

**Theorem 4.4.** *Let  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -fibration and  $k: (O', e') \rightarrow (O, e)$  be S-map. Then the pullback  $f^k$  of  $f$  induced by  $k$  is  $S_X$ -fibration.*

**Proof.** Let  $(X, c) \in \chi$ ,  $g': (X, c) \rightarrow (S_k, e' \times a)$  be S-map, and  $G': (X, c) \rightarrow P(O', e')$  be S-homotopy with  $G'_0 = f^k \circ g'$ . Define S-map  $g: (X, c) \rightarrow (S, a)$  by  $g(x) = \mathcal{P}_2(g'(x))$  and S-homotopy  $G: (X, c) \rightarrow P(O, e)$  by  $G(x) = k \circ G'(x)$  for all  $x \in X$ . Note that

$$\begin{aligned} G(x)(0) &= (k \circ G'(x))(0) = k(G'(x)(0)) = k[f^k(g'(x))] \\ &= k(\mathcal{P}_1(g'(x))) = f(\mathcal{P}_2(g'(x))) = f(g(x)) \end{aligned}$$

for all  $x \in X$ . That is,  $G_0 = f \circ g$ . Since  $f$  is  $S_X$ -fibration, then there is S-homotopy  $H: (X, c) \rightarrow P(S, a)$  such that  $H_0 = g$  and  $f \circ H_t = G_t$  for all  $t \in I$ .

Define S-homotopy  $H': (X, c) \rightarrow P(S_k, e' \times a)$  by  $H'(x)(t) = [G'(x)(t), H(x)(t)]$  for all  $x \in X$ ,  $t \in I$ . Note that  $f \circ H' = G'$  and

$$\begin{aligned} H'(x)(0) &= [G'(x)(0), H(x)(0)] = [f^k(g'(x)), g(x)] \\ &= [\mathcal{P}_1(g'(x)), \mathcal{P}_2(g'(x))] = g'(x) \end{aligned}$$

for all  $x \in X$ . That is,  $H'_0 = g'$ . Hence  $f^k$  is  $S_X$ -fibration.  $\square$

In the following theorem, we use [Corollary \(4.2\)](#) to show that the pullback  $S_X$ -fibrations, which induced by S-homotopic S-maps, have S-homotopy equivalent total S-spaces.

**Theorem 4.5.** *Let  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -fibration and  $k, k': (O', e') \rightarrow (O, e)$  be two S-maps. If  $k$  and  $k'$  are S-homotopic, then the total S-spaces  $S_k$  and  $S_{k'}$  of pullback  $S_X$ -fibrations  $f^k: (S_k, e' \times a) \rightarrow (O', e')$  and  $f^{k'}: (S_{k'}, e' \times a) \rightarrow (O', e')$  are S-homotopy equivalent.*

**Proof.** Define two S-maps  $d: (S_k, e' \times a) \rightarrow (S, a)$  and  $d': (S_{k'}, e' \times a) \rightarrow (S, a)$  by  $d(x, s) = s$  and  $d'(x', s') = s'$  for all  $(x, s) \in S_k$ ,  $(x', s') \in S_{k'}$ , where

$$S_k = \{(x, s) \in O' \times S \mid k(x) = f(s)\},$$

$$S_{k'} = \{(x, s) \in O' \times S \mid k'(x) = f(s)\},$$

respectively. Note that  $f \circ d = k \circ f^k$  and  $f \circ d' = k' \circ f^{k'}$ . Since  $k$  and  $k'$  are S-homotopic, then there exists S-homotopy  $F: (O', e') \rightarrow P(O, e)$  such that  $F_0 = k$  and  $F_1 = k'$ .

Consider S-homotopy  $F \circ f^k: (S_k, e' \times a) \rightarrow P(O, e)$  with S-map  $d$  and S-homotopy  $F \circ f^{k'}: (S_{k'}, e' \times a) \rightarrow P(O, e)$  with S-map  $d'$ . Since

$$[F \circ f^k]_0 = f \circ d, [F \circ f^{k'}]_1 = f \circ d',$$

and  $f$  is  $S_X$ -fibration, then there exist two S-homotopies  $H: (S_k, e' \times a) \rightarrow P(S, a)$  and  $H': (S_{k'}, e' \times a) \rightarrow P(S, a)$  such that

$$H_0 = d, \widehat{f} \circ H = F \circ f^k, H'_1 = d',$$

and  $\widehat{f} \circ H' = F \circ f^{k'}$ .

Let  $\mu: (S_k, e' \times a) \rightarrow (S_{k'}, e' \times a)$  and  $\mu': (S_{k'}, e' \times a) \rightarrow (S_k, e' \times a)$  be two S-maps defined by the properties  $H_1 = d' \circ \mu$  and  $H'_0 = d \circ \mu'$ , respectively. In [Corollary \(4.2\)](#), take  $h = H \circ \mu'$  and  $h' = H'$ . Note that

$$h_0 = H_0 \circ \mu' = d \circ \mu' = H'_0 = h'_0$$

and

$$f \circ h_t = f \circ H_t \circ \mu' = F_t \circ f^k \circ \mu' = F_t \circ f^{k'} = f \circ H'_t = f \circ h'_t$$

for all  $t \in I$ . That is,  $h_0 = h'_0$  and  $\widehat{f} \circ h = \widehat{f} \circ h'$ . Then  $H \circ \mu' \simeq_s H'$ . Hence  $\mu \circ \mu' \simeq_s id_{S_{k'}}$ . Again in [Corollary \(4.2\)](#), take  $h = H' \circ \mu$  and  $h' = H$ . Similarly, we get that  $\mu' \circ \mu \simeq_s id_{S_k}$ . Hence the total S-spaces  $S_k$  and  $S_{k'}$  are S-homotopy equivalent.  $\square$

The following theorem is the analogous result of [Theorem \(4.1\)](#) in the  $S_X$ -cofibration theory which its proof is similar as the proof of [Theorem \(4.1\)](#).

**Theorem 4.6.** *Let  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -cofibration and let  $h, h': (O, e) \rightarrow P(X, c)$  be two S-maps. Let  $h_0 \simeq_s h'_0$  and  $h \circ f \simeq_s h' \circ f$  by S-homotopies  $K: (O, e) \rightarrow P(X, c)$  and  $G: (S, a) \rightarrow P[P(X, c)]$ , respectively. If  $G_{0t} = K_t \circ f$  for all  $t \in I$ , then there exists S-homotopy  $H: (O, e) \rightarrow P[P(X, c)]$  between  $h$  and  $h'$  such that  $H_{0t} = K_t$  and  $H_{rt} \circ f = G_{rt}$  for all  $r, t \in I$ .*

The proof of following corollary is also similar as the proof of [Corollary \(4.2\)](#).

**Corollary 4.7.** *Let  $f: (S, a) \rightarrow (O, e)$  be  $S_X$ -cofibration. Let  $h, h': (O, e) \rightarrow P(X, c)$  be two S-maps such that  $h_0 = h'_0$  and  $h \circ f = h' \circ f$ . Then there exists S-homotopy  $H: (O, e) \rightarrow P[P(X, c)]$  between  $h$  and  $h'$  such that  $H_{0t} = h_0 = h'_0$  and  $H_{rt} \circ f = h \circ f$  for all  $r, t \in I$ .*

In the following example, we give some applications for [Theorem \(4.6\)](#) which are the analogous applications of [Theorem \(4.1\)](#) in [Example \(4.3\)](#).

**Example 4.8.** It's clear that for  $n = 1, 2, 3, \dots$ , the S-space  $(\mathbb{S}^n, \pi)$  is a closed S-subspace of S-space  $(\mathbb{D}^{n+1}, \pi)$  and both of them are closed S-subspace of S-space  $(\mathbb{R}^{n+1}, \pi)$ , where  $\mathbb{S}^n = \{x \in \mathbb{R}^{n+1} : |x| = 1\}$  is the unit sphere of dimension  $n$ ,  $\mathbb{D}^{n+1} = \{x \in \mathbb{R}^{n+1} : |x| \leq 1\}$  is the unit disk of dimension  $n + 1$  and  $\mathbb{R}^{n+1}$  is the Euclidean space of dimension  $n + 1$ . Let  $d, d': (\mathbb{D}^{n+1}, \pi) \rightarrow (\mathbb{R}, \pi)$  be any two S-maps from S-space  $(\mathbb{D}^{n+1}, \pi)$  into the usual real S-space  $(\mathbb{R}, \pi)$ . It's clear that the inclusion S-map  $j: (\mathbb{S}^n, \pi) \rightarrow (\mathbb{D}^{n+1}, \pi)$  is  $S_{\mathbb{N}_\pi}$ -cofibration. Define two S-maps  $h, h': (\mathbb{D}^{n+1}, \pi) \rightarrow P(\mathbb{R}, \pi)$  by

$$h(x)(r) = r + d(x) \text{ and } h'(x)(r) = 1 - r + d'(x)$$

for all  $x \in \mathbb{D}^{n+1}$ ,  $r \in I$ . Define S-homotopies

$$K: (\mathbb{D}^{n+1}, \pi) \rightarrow P(\mathbb{R}, \pi) \text{ and } G: (\mathbb{S}^n, \pi) \rightarrow P[P(\mathbb{R}, \pi)]$$

by

$$\begin{aligned} K(x)(t) &= t(1 + d'(x)) + (1 - t)d(x) \text{ and } G_{rt}(y) \\ &= r + t - 2rt + d(y) - td(y) + td'(y) \end{aligned}$$

for all  $x \in \mathbb{D}^{n+1}$ ,  $y \in \mathbb{S}^n$ ,  $r, t \in I$ . Note that  $K(x)(0) = d(x) = h(x)(0)$ ,

$$K(x)(1) = 1 + d'(x) = h'(x)(0),$$

$$G_{r0}(y) = r + d(y) = [(h \circ j)(y)](r)$$

and  $G_{r1}(y) = 1 - r + d'(y) = [(h' \circ j)(y)](r)$  for all  $x \in \mathbb{D}^{n+1}$ ,  $y \in \mathbb{S}^n$ ,  $r, t \in I$ . That is,  $h_0 \simeq_s h'_0$  and  $h \circ j \simeq_s h' \circ j$  by S-homotopies

$K$  and  $G$ , respectively. Since  $G_{0t} = K_t \circ j$  for all  $t \in I$ , then the desired S-homotopy  $H : (\mathbb{D}^{n+1}, \pi) \rightarrow P[P(\mathbb{R}), \underline{\pi}]$  is given by

$$H_r(x) = r + t - 2rt + d(x) - td(x) + td'(x)$$

for all  $x \in \mathbb{D}^{n+1}$ ,  $r, t \in I$ .

**Theorem 4.9.** *Let  $(B, \pi)$  be closed S-subspace of S-space  $(S, \pi)$ . The inclusion S-map  $j : (B, \pi) \rightarrow (S, \pi)$  is  $S_{\mathcal{N}_\pi}$ -cofibration if and only if  $(S_B^0, \pi)$  is S-retract of  $(S \times I, \pi)$ , where  $S_B^0 = (S \times \{0\}) \cup (B \times I) \subset S \times I$ .*

**Proof.** Let  $j : (B, \pi) \rightarrow (S, \pi)$  be  $S_{\mathcal{N}_\pi}$ -cofibration. Define S-map  $g : (S, \pi) \rightarrow (S_B^0, \pi)$  by  $g(s) = (s, 0)$  for all  $s \in I$  and define S-homotopy  $G : (B, \pi) \rightarrow P(S_B^0, \pi)$  by  $G(s)(t) = (s, t)$  for all  $s \in B$ ,  $t \in I$ . Note that  $G_0 = g \circ j$ , then there is S-homotopy  $H : (S, \pi) \rightarrow P(S_B^0, \pi)$  such that  $H_0 = g$  and  $H_t \circ j = G_t$  for all  $t \in I$ . Then define the S-retraction  $R : (S \times I, \pi) \rightarrow (S_B^0, \pi)$  by  $R(s, t) = H(s)(t)$  for all  $(s, t) \in S \times I$ . That is,  $(S_B^0, \pi)$  is S-retract of  $(S \times I, \pi)$ .

Conversely, suppose  $R : (S \times I, \pi) \rightarrow (S_B^0, \pi)$  is S-retraction. Define S-map  $R' : (S, \pi) \rightarrow P(S_B^0, \pi)$  by  $R'(s)(t) = R(s, t)$  for all  $s \in S$ ,  $t \in I$ . Then for every an-space  $(X, \pi) \in \mathcal{N}_\pi$ , S-map  $g : (S, \pi) \rightarrow (X, \pi)$ , and S-homotopy  $G : (B, \pi) \rightarrow P(X, \pi)$  with  $G_0 = g \circ j$ , define S-homotopy  $H : (S, \pi) \rightarrow P(X, \pi)$  by

$$H(s)(t) \begin{cases} (g \circ \mathcal{P}_1)(R(s, t)) & (s, t) \in R^{-1}(S \times \{0\}); \\ (G \circ R')(s)(t) & (s, t) \in R^{-1}(B \times I) \end{cases}$$

for all  $s \in S$ ,  $t \in I$ .  $H$  is continuous, since  $S \times \{0\}$  and  $B \times I$  are closed subspace of  $S \times I$ . Then

$$H(s)(0) = (g \circ \mathcal{P}_1)(R(s, 0)) = (g \circ \mathcal{P}_1)(s, 0) = g(s)$$

for all  $s \in I$  and

$$(H_t \circ j)(s) = (G_t \circ R'_t)(s) = G_t(s)$$

for all  $s \in B$ ,  $t \in I$ . Hence  $j : (B, \pi) \rightarrow (S, \pi)$  is  $S_{\mathcal{N}_\pi}$ -cofibration.  $\square$

**Corollary 4.10.** *Let  $(B, \pi)$  be closed S-subspace of S-space  $(S, \pi)$ .  $j : (B, \pi) \rightarrow (S, \pi)$  be an inclusion  $S_{\mathcal{N}_\pi}$ -cofibration. Then its S-retraction  $R : (S \times I, \pi) \rightarrow (S_B^0, \pi)$  is unique up to S-homotopy.*

**Proof.** Let  $R, R' : (S \times I, \pi) \rightarrow (S_B^0, \pi)$  be two S-retractions. Let  $X = S_B^0$  and  $h, h' : (S, \pi) \rightarrow P(X, \pi)$  be two S-maps given by  $h'(s)(r) = R'(s, r)$  and  $h(s)(r) = R(s, r)$  for all  $s \in S$ ,  $r \in I$ , respectively. Since  $R$  and  $R'$  are S-retractions of  $S \times I$  onto  $S_B^0$ , then

$$h(s)(0) = R(s, 0) = (s, 0) = R'(s, 0) = h'(s)(0)$$

for all  $s \in S$  and

$$(h \circ j)(s, r) = R(s, r) = (s, r) = R'(s, r) = (h' \circ j)(s, r)$$

for all  $s \in B$ ,  $r \in I$ . Then by Corollary (4.7), there exists S-homotopy  $H' : (S, \pi) \rightarrow P[P(X), \underline{\pi}]$  between  $h$  and  $h'$  such that  $H'_{0t} = h_0 = h'_0$  and  $H'_t \circ j = h \circ j$  for all  $r, t \in I$ . Define the desired S-homotopy  $H : (S \times I, \pi) \rightarrow P(X, \pi)$  by  $H(s, r)(t) = H'_t(s)$  for all  $s \in S$  and  $r, t \in I$ .  $\square$

#### Acknowledgment

The authors express their sincere thanks to the referees and editor for the careful and details reading of the manuscript and very helpful suggestions that improved the manuscript.

#### References

- [1] K. Borsuk, *Theory of Retracts*, PWN, Warsaw, 1967.
- [2] Z. Cerin, Homotopy theory of topological semigroup, *Topol. Appl.* 123 (2002) 57–68.
- [3] W. Hurewicz, On the concept of fiber space, *Proc. Nat. Acad. Sci. USA* 41 (1955) 956–961.
- [4] E.H. Spanier, *Algebraic Topology*, McGraw-Hill, New York, 1966.